SIMG122002 ¥ % ¢ - B3 2 2415 Ha TR

X Hidp 3
3. [BE]
(2) X5 45 IE 7 41 JE Y ik 20=$250,000+$50,000=$300,000
HH B L X4 SEAT Y Y 71$50,000 3 E MR 2K T XS A, 0 bR
A X5 S HLEF % 245 I$50,000 ; 12 X5 45BN 2 % 71$100,000 ¢ 5
6.56 74 $100,000—-$50,000=$50,000 44 7 s A5 X5 4 % 71 % 325 & A He 2:$50,000¢
X5 4 IE 7% #] K J& 4K Tk $7=$350,000—$50,000=$300,000
X5 EFEES TR (2 AKS) =$1,200,000-$100,000=$1,100,000
X5 4 B 2 JEK M 2 8 = ($300‘0$01(;1‘;°3'gz;00)+2 =3.67(%)
X5 4 R 2 JE YN B 29 0K B $=360 K+3.67(X)=98.1 £
6. [#R% ]
9-71 4) X3/12/31  JEAE 10,000,000
B AN R €5:96854451H6) 1,494,741
10-26 | 72mX2 £ JEF| > B T %% AR 4 %=100 £1x0.85x100 & {1 x$30x2/3—$90,000=$80,000
91.me 3 37 ¥ % 37 7E 41 Am B T 4 i $=2,500,000 fi% x2x3/12+2,900,000 Fxx2x3/12 + 2,750,000 fix
10-34 x2x6/12=5,450,000 [
10-38 | 99mX2 & (F 7)) 4 Bl I Ik F1=(875,131+487,513) x10%=$8,264
112 | 3m@EREHAMALCEAREKDE I HARK HEE RBARK (—FWEHF)-
14-15 | £mdeide x g [ o W mor o FVIR s T2 % TUE9F | R o




